S.8.C - (Part-1)-A- 2019 T\L‘JI) - L/] I ‘wl < ’ u‘

Roll No. S (For all sessions) PaperCode | 56 [ 2 | 6 | 3
. Group-I- h(ur . . p

General Mathematics (Objective Type) (Arts Group) (u‘if*)o" &Jd 7

Marks: 15 Time: 20 Minutes & 20:25% 157

A 83z eon Wiz P 49D C B AR L vy g’iés’;}mo’&/ﬁh;uﬁé; Uypling
_q:ﬁ‘:.Lﬁ.lrJQ;L/CL}Lbec_Ji’u:fbs':.D | CB:Asz&LL -
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1.1f U={1,2,3,4} 4={4} then 4"is equal to: e A Te A={4} U={1,2,3,4} /1 1.4
) {1.2.3,4} | ¢ - {1 o {123}
2. For y=2in2x-y=6 xis equal to: b X e L, y=2 S2x=y=6 2
(A) -2 (B) 2 (C) 4 (D) -4
= XXX e B R, o Xt T X N +Xx,
g He——t is called: ety X == ' 3
n : n
(A) arithmetic mean  LiL> (B) Geometeric mean of X, X;.....X, mrL}ﬁb’ R IPD STT
(C) weighted mean  bosl3issi (D) median ks
1 1
4. 5 in term of percentage is: -{.J;}‘BJME 4
1
(A) 3% (B) 30% (C) 33% (D) 333%
5', In the proportion a:b::c:d "a" and "d" are called: _ugq"":f"d",rsi"a"u:‘.'.._..rE?Ja:b::c:d 5
(A) Mean oo (B) extremes i,;;-':’}’ (C) consequent _-.:f:(u)h’ (D) anticedent 4&.36&":‘

6. On a crop produced on artificial resources, Ushr is deducted at the rate of. - L}JJ:—KJ‘ {J"'Jﬁ.:f_-}’o’;_dujjﬁf 6

(A) 25% (B) 2.5% (C) 10% (D) 5%

7. Zakatis deducted at the rate of: -QL}JJ}{J‘SP/) y
(A) 3.5% (B) 2.5% ©) 55% . (D) 4.5%

8. Profit is earned when: :.fIILt MJ‘ug .8
(A) SP=CP wsjed=pizd (B) SP<CP wiijud<sind
(C) SP > CP edyjed>yfnd (D) None of these eyl

9. The return earned by bank on the loan is called: ..u_;;i’c_.lq_ e/ ety :;?.G_:.;.‘&.:V"‘} 9
(A) markup —IfL  (B) premium (©) profit Ci- (D) bonus ¥

10. A machine instailed by the bank to dispense cash to customer is called: -« Jﬂ:{{_;})’!ﬂf.{b’ﬁﬁxgﬂbféﬁfwﬁ.@ .10
(A) computer }}_‘:;f (B) scanner /_._;5 (C) ATM .ﬁl-J-a.l (D) card reader .36

11. The tax in addition to the price of the article is called: g Fisedz” 1
(A) tax U,? (B) income tax u’g/i
(C) sales tax V'g}lf (D) excise duty J;_‘E‘/’La..ff

12. Taxes of the form of duties, motor vehicles taxes are called_______ tax. -ugé‘fg/?._.._-)ff-ggﬂfbf -L*%:):’:):’.fi 12
(A) property 4L (B) direct =lnls (C) income Jfl (D) indirect &-IsL

13. ina", n is called: ,-._,[‘:':anu:a” A3
(A) exponent iz s (B) radical i (C) radicand s (D) base U\

14. For2,6,11,17,.......... as is: | cedf A 2,61117. 14
(A) 21 (B) 22 (C) 24 (D) 30

15. For2,6,18,.......... s js: i s 0B8R, N5
(A) 162 (B) 161 (C) *62 (D) 32
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S.8.C - (Part-I) -A-2019
Roll No. ____to be filled in by the candidute. (For all sessions) RW rf') _C' | _.,C‘ e )C‘
.
General Mathematics (Essay T\g:)m&ﬁshgroup) (::t‘-il)d‘ LJJ/‘Z
Marks: 60 Time:2:10 Hours g2:10 =3 60:/;}
Section -I . 2x18=36 Jil
2. Write short answers of any six parts from the following. 2x6=12 - T:.' fi/‘!érl?'fic.df‘:-ufgfﬁbn 2
i. Define direct proportion. -c_éig)/’J;xb.,xb N
ii. Find the value of X therate 0f20:50::8:x. -:’.:?F:"’;wfg,( X Aertd 20:50::8: x i
iii. A person left a property of worth Rs.2400,000. Calculate the 1Sl =ie1,2400,0004 ST i
amount of share of his wife. ~ ' _LE/?'}L”.A’B/LS)_E
iv. Calculate the amount of Zakat on an amount of Rs.500,000. -u‘);’b”ﬁrJ”ﬁ/ﬁJA. 1,500,000 .iv
v. Find SP=? when CP=Rs850 profit 10%. _fio%tf’n!a..u%(]»]_.u’ﬁu fr)"h_m/._-x’ R
vi. Define business partnership. Write down its types. 4‘{'1..11‘_51;! é(JfJJ/JJLy{ Vi
. vii. Find the marked price when SP=Rs.858, and discount=12% -12% 29531 2,858= J:/Jﬁé?}*ﬂ.i s lun Vil
) vili. Simplify the ratio 8:12 in simple form. e B 812 i
ix. Define insurance policy. ) _é:.gJ/JJ-‘-JE.a X
3. Write short answers of any six parts from the following. 2x6=12 -qé}’qw/*&nzuga,éfc.dqsm 3
i. At what annual rate of profit would a sum of Rs.680 will increase aL4Jv3/ch-€.:JSBOﬁ.Q,;3VL };uvu/ i
to Rs.850 in 3 years and 4 months? o psre/850 2
5 ii. What is meant by indirect tax? ?4—:Lr_¥¢.u’-gl~lﬁ; i

A sales tax of 16% is imposed on television. If the marked price of =d E-,»,;c;jf:s[fﬁg.tlggﬁdgﬂf 1 6%{023&5 il
television is Rs.18000, calculate the total amount one has to pay. ?&:&/’:fﬁ;f/ ﬁLthi’ufg:ﬁ ?na‘.__..-z‘IBOOO

oYz (11!
iv. Simplify: (04'()3} +[a3.b‘*] L& iy

v. Write in the decimal form. 0.525x 10" _e Bl e
vi. Prove that: 3log2+ Log5 = Log40 -@3‘:—4& Vi
vii. If the n term of an AP is 3n-5 find AP. _&:,?;:"’.LLG‘??KSn-Sf:Vj:nJ,LL‘d‘?)’f Vi

viii. If 8 and 12 are two AMs between a and b. Find a and b. _é)-"b.ela?ummd‘fm2J:f8u)_l,f;:£b»ia)7 viii

ix. Find the unknown element of A.P *a=10, a,=400 , d=5 _2_5‘;}"/4"(}"“;5'}1'6‘3 iX
4- Write short answers of any six parts from the following. 2x6=12 -Q}}f:‘pyﬁ;’z;mgc.éfa.;ﬁdibn -4

i. Define intersection of sets. _éz-i(._y/?d/d’is?.f.uk’ i

ii. Find A— Bif: A={2,3,4,5}, B={2,4,6,8} -./'7;_;2:#/1_3 i
iii. Find domain and range of R, if: R={(1.3),(1.4).(2.3).(2.4)} :/’?giicw'@ms@suf R iil



.
L)‘L-' !) z ({ - C} ’ C‘
iv. Represent the point (2,-4) on graph. _gi;u;{._.ifff (2,-4)5 iv
v. Convert 113%F into °C . ZEd e M3 v
- vi. Define origin. ue”fi(_g/‘?c:rg Vi
vii. Define range. -4:-.".’/3@(-"-” vii
viii. Find the mode of the data set. 6,2,4,3,4,5,4,5 -a_é?,%w;;inr iii
ix. Find the range of the data set. 6,8,10,14,13,12 _g-!c.l":.}’&::{.:lr X
Section -II r»,..b
Note: Attempt any three questions from the following: 8x3=24 _J )} ;:.:i..li.’f_a ﬂlﬂ;fc'_-lj:(:.- 9 J’_ s 2L S
5. (a) A motorcycle covers 90km in 2 liters of petrol. In how A Soﬁds,%/‘ézu;ﬁv)r\.ﬂﬁ () 5
many liters of petrol will it cover 225 km? ?bfx;é:d:,&bfgé.,&,hﬁﬂyﬁﬁ
(b) Calculate the amount of Zakat on 10 tola gold and Jé.r,,ﬁ.q/?}vﬁd's;ﬁ;;jxgﬂatonrtw?10 ()
40 tola silver, if the rate of gold is Rs.40,000 pertola  -%J7(¢ /500024 §Ss b7 3 2.40,000=4

and rate of silver is Rs.5000 per tola.

e

1 5 oz poe o]
(@) A man sold an almirah at a profit of 7 > %. If he sold it for Rs.209 ¢ 5,209 iss/ 1= S=bs f Uakd T 3 S a(a) 8
he would have lost 2%. For how much the man purchased it? eI f & e 1 ST b e 1 7e S ass

(b) Find the compound profit of Rs.600 for four year's at 6% per annum. _2;!:31”5L:-':cil;{.:.g’_,/"::UVG"/;:#’J{A%,;%.»GOO ()

7. (@) Khalid works 6 days a week. Find his grass monthly wage, if I_,,fl:f._gge?.u200;'/’7_;..?/?&):6&:5;,%(...5”) i
his rate of pay is Rs.200 per day. _gr/-}”_-.zl.;l,tgfﬁgfu’f?_a_tg
25.36x2.4569 .
(b) Evaluate using logarithm table. T ga1s _e_;{J"a.quugaiﬁ?) ()
l. (@) Find three A.Ms between /2 and 6+/2 . ‘&:EFPML;‘TL-,&)?»J.JE sed2 () .8
(b) 11x={0,3,5} y={2,4,8} then establish any SXXY iy ={2,48} . x={0,3,5} /1 ()
four binary relfation in X * ) | - ’»:"JL_‘J;JEZ?
. (@) Draw the graph of: y=2x+1 _$:.‘f/; () .9
(b) Find the standard deviation of the the values. 2,3,6,8,11 d;,,_',-'-/‘s"-"...jff'ld:i_,v (-._.a)
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RolIN~. ____ i (For all sessions) PaperCode | 5 | 2 [ 6 | 8
Group-II- ..f:/

General Mathematics (ovjective Type) (Arts Group) WS .l_ud )

Marks: 15 Time: 20 Minutes &2* 20:=3 15:/;;

ﬁUb’u"{Q b’dlﬁc ¥ 'yxjfg?fﬁgﬂ‘ufé:éﬂJD;sr,C,B,Aa&'ﬁ.‘-@kcﬁd‘rﬁ 2;’(;{'4(Q!ﬁ&ffd)aglgég,mr(u":g,}
' L e S S 3 2 UsIED L CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Loss is there, when: :ﬁ«;.rxuw? 1.1
(A) SP=CP  wdjed = 4724 (B) SP>CP =39)ed sy fed
(C)SP< CP  =dyjud<pind (D) SP=MP esped=binges
2. An instrument like a cheque issued by a bank on the request of its {:/I};;J..‘fb”é.. 2o PSS G 2
customer is called: .- e
(A) pay order .3/ie (B) cheque
(C) bank draft &b G (D) bill of exchange Jré;',"(r
3. The percentage of profit/ markup charged is called: -q&fr"@}é’t@m&»-ﬁtzd’t} 3
(A) principal i (B) interest s (C) tme (¢ (D) rate <o
4. The tax charged on all the taxable income is called: - m;f;.t-@&;&..‘&;ﬁ}ﬁ;v’xugas 4
(A) sales tax ,@5 (B) direct tax Jg.z.fb;b: (C) income tax JEH{I (D) excise duty g};ji‘f’pf f
5. The tax in addition to price of the article is called: _ugféfkf?[jwuf.;{"gfglf( .5
(A) tax u’g (B) sales tax u,,?}; (C) income tax J-Ef: (D) excise duty g},;‘,?;fb_fi
6. 3\5 is called: -Uggf Sﬁ 6
(A) radical i (B) radicand .. (C) rational number s Pt (D) integer ,w(‘;s"
7. Third term of @, =7+3 js: ety sl a,=n+3 7
(A) 3 (B) 9 (C) O (D) 6
8. G.Mbetween 1and 8 is: -e b Aend 8411 .8
A 242 (B) +2V2 € -242 (0 2
9. (ANB) is equal to: -«2(4ANB)° 9
(A) AUB () ANB () A°UB° () A°NB°
10. If Y =3X then for X =2 we have ¥ equal to' MslsV ?u‘-“fx =2£y=3x0 10
(A) 6 (B) 8 (C) © (D) 7
e e 1 _
1. Z(Nis called: et Z(l] 11
x) x
(A) Harmonic mean Mu/n{. (B) Mode sk (C) Mean L~ (D) Arithmetic mean Jwﬂ}!)
12. 0.13 as percentage is: _.;__ngJMD.‘fS 12
(A) 13 (B) 30 (€) 13% (D) 10%
13. In a ratio a:b "a" s called: - e e Sab 13
(A) extreme dl:ﬂ (B) antecedent -"«..30‘(,?4 (C) consequent JJ’J.F' (D) mean i

14. The share of widow in the presence of a child or agantic grand child is. ‘< rxl:‘-'-((;,z.';;:?yg,f; U:i).-@gj:ﬂé:l.of}ib)h/wj 14
1 1 ] 1
(A) 14 (B) 8 (€) 3 (D) 5



S.8.C - (Part-I) -A-2019 . _

Roll No.______ tobefilled in by the candidate. l (For all sessions)
.
General Mathematics (Essay TJEZ)’“(‘KR; E:oup) (,_:@1)6' &Jd/’?.
Marks: 60 Time:2:10 Hours &% 2:10 & 60: 7
Section -1 2x18=36 Jito
2. Write short answers of any six parts from the following. 2x6=12 _L{)};’@uzﬁ"'&izg.;.éfa.gﬁd s 2
i. Define direct propottion. -2}:.;_1 fU.:/lJ__/l:?' A
i 1f 45% of the students in a school are girls. What percentage are boys? e SIS us? Iun Ul 1 9 45% = S JELA i
ii. Express 65% as fraction in their lowest form. _E Sl TS 65% i
iv. What is meant by Ushr? e aipfe v
v. Calculate Zakat on gold amounting to Rs.11,10,000/=. c.{:l*‘ fqu:w._uﬁ 10, DOOI-»JLJa.rf N
vi. Define Loss. éfﬂﬁbw Vi
vii. Find cost price when SP is Rs.851/=, and profit is 8%. La%a’,,ug_ 1851/ /J.vq@p% =4 il
viii. Find sale price, when MP is Rs.760/=, and discount is 5%. m._..,-@’S“/w-lz_..u?zs.-’ ..,A’wi’_,»ﬁéq:}”_mf..»’ viii
ix. What is meant by Saving Account? “4.;1/1,'2:.../:5"..{'{ X
3. Write short answers of any six parts from the following. 2x6=12 _J/GjuLlif‘L»IYI;c_Jfa.uﬁJ s 3
i. Define Financial Lease. JJ}J/@C’ i
i. Define Excise duty. -4,{..» PR
ii. Find the value of added tax at the rate of 10% at the marked price of g}u’fc,c/*g}/10°/u,;c)i;:£<....,fz..u120001~ i
Television of Rs.12000/=. e -
. Write 0.86 x 10" in decimal form. A B end 086 x 10° v
v. Find the value of Xif: logx =0.1597 :ﬁuj)_’r}”:,fJ Y
i, Prove that: 300g2 + Log5 = Log40 St
vii. Define Arithmetic Mean. _z:,{..g FATER O
viii. Find the G.M between 3 and 27. _é}”m(}ﬁu_LwLZ'!ulS v
ix. Define Geometric sequence. -%K._Jg FASEIY
A- Write short answers of any six parts from the following. 2x6=12 _bf)}j'aylﬁﬁ:’zplzlia.éfa-L}:J,ifw -
i. Define Function. o fsSe
ii. Find U—4if: A={4,6} , U={4,6,8,9,10} :ﬁ.’.:i-?:‘"U—A :

iii. If A={-2,1,4} then write two binary relation in A. _agajgiuéi:';'»ufﬁx?ﬁA:{-2.1 .4})§l .



12\,\:‘0—@7,—9 -1}

iv. Convert 86°C into %F (Fahrenheit) . -& LU CALF 8%
v. What is meant by ordered pair? ( el o RCp v
vi. Convert 220°F into °c (Centigrade), ' ~E RG0S 220% vi
vii. What are quartiles? | e VTR \ii
viii. Write the formula of variance for group data. _g‘{ms{ ( :iro’qf der /"' Viii
ix. Find range of the data 6.8,10,14,13,12 2 ARSI ix
Section -I1 (22>
Note: Attem pt any three questions from the following: 8x3=24 _q&f:. el = Ilb'ufc.(jfc.ptgfjb» O
5. (a)a factory makes 600 Suits in 9 days with the help of ;g._*.rSODg,Cu:‘;Q{uﬂf?Oqu,ﬂ?;ﬁ () 5
20 machines. How many suits can be made in 12 days ...:/r?_:’:g_ﬁu:;:‘lZ:;. :4&_,[9?’18-@2.:«
with the help of 18 machines? 7/ Ui
(b) A person left 5 Property of worth Rs.24,00,000/=. Calcuiate Jf.d};g’;rgt_‘-J:{L$s;24_00,000!=a;d:7..§ (&)
the amount of share of his wife, a son and 3 daughter, _q)?#’dbf&_{bsil}._@dmﬁ-_uf

- (a) Aslam, Anwar and Akram eamned a profit of Rs.2.50 0oo/= - C’,.‘"z:_:;2,50,000!=;:4_.»b’.§4’..(fb:bi'«ﬁ () 6

from a business. If their investments in the business are of & K.{r/;?x«q:?:14.7.:;7[..:»;5ufdz@. /Jui/"f

ratio 4:7:17 fespectively, find the profit of each, - c:.i:;‘”

(b) Find the Compound profit on Rs.600/= for 4 years at 6% per annum. -é:..i;:‘vévﬁig‘-_cf‘.: uve%é;(JtA.;z;usm:': (u,.-)
(@) The total taxabje income of two persons is Rs.2,50,000/= ang ar;JZ,50.000!=.,:7;J.¢fg’g‘}ﬁuﬁuﬂfu(...IJI) &

8l

Rs.3,10,000/= respectively. Workout the income tax for each of  f 4.5%;&;6&»-;93,10,000f=

them @ 4.5%. -&;ZFPJfPT':IJFaC;;
8.67x3.94 .

(b) Solve with the help of logarithm tabje. T -a:,{&;_ 4 Jd;q.ﬁf‘f & ()
(a) Insert two G Ms between 4 ang % ,%ﬁvz«,g} Paseendd ~21— s4 () 8
b) 114={2,3.4) p- {3.6,9,12} angC = {4,6,8,10} B={3,6,9,12). 4= {2,3,4) 7 Ga)

+ then prove that: AU(BUC)=(AUB)UC :fé_;{:r.b‘inc={4,6,3,10}ur
a) Draw the graph with the help of point A(5‘2),B(-6,-2) and C(6,7). _?r_}i/f(c(6,?)zsiB(—6,-2}:A(5,2)J,L§ ) 9
9) For the data find Mean, Median and Mode. 3,5,6,8,8,9,10 -%ﬁwmrgwﬂ,rwrﬂr ()
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